Fury Road

Westland is full of war parties. There is always frequent war occurs in the fury road of Westland.
Today is an another great day for the immortal Joe, because he is going to the war with his
Kamakrazee war boys in the fury road. So, he sent Slit one of his war boys to count the number of
war parties. In the fury road there are multiple war parties fight together, so it is difficult to count
the number of war party but, Slit properly know that, if a group of war boys stand together, on the
other word if they are adjacent (vertically, horizontally and diagonally) to each other, they would
be counted as a single war party. As, there is large number of war parties in the fury road, itis not
quite easy to count the number of war parties perfectly. So, Slit needs your help to determine the
number of war parties in the fury road.

Now, you are given the number of war boys and their position in the Cartesian plane as (x, y)
format which indicates the war boy’s position. Now you have to determine the number of war
parties.

Input

The input set starts with single line integer T (1<=T<=50) the number of test cases. Then
following T cases starts with an integer N (1<=N<=10000) denoting the number of war boys in the
fury road Then next N line contains a pair of integer (X, Y;) (0<=X;, Y;<=1000) denoting the

position of i-th war boy.

Output

For each case print “Case X:” (without the quotes) where X (1<X<T) is the case number. And
then print the number of War parties in the fury road. Every new case should be printed in a new
line.

Example

Input:
3
2
55
32
6
13
01
12
23
41
50
1
00

Output:

Case 1: 2
Case 2: 2
Case 3: 1
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